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Real Champs



Five years ago, the ratio of the ages of A and B was 3:4. Five years from now, the ratio of their 
ages will be 4 : 5. What is the ratio of A and B, 10 years from now?
प ांच वर्ष पहले, A और B की आयु क अनुप त 3:4 थ । अब से प ांच वर्ष ब द, उनकी आयु क 
अनुप त 4:5 होग । अब से 10 वर्ष ब द A और B क अनुप त क्य है?

1)9:11
2) 6:7
3) 5:6
4) 7:9



A shopkeeper allows 10% discount on the marked price of an article and still gains 17%. If he 
gives 15% discount on the marked price, then his profit percent is?
एक दुक नद र एक वसु्त के अांककत मूल्य पर 10% की छूट देत है और किर भी 17% क ल भ
प्र प्त करत है। यकद वह अांककत मूल्य पर 15% की छूट देत है, तो उसक ल भ प्रकतशत है?

1)A 12
2)10.5
3) 12.5
4)10



The height of a cone is equal to its base radius and its volume is 72πcm3. What is its curved 
surface area?
एक शांकु की ऊां च ई उसके आध र किज्य के बर बर है और इसक आयतन 72πcm3 है। इसक 
वक्र पृष्ठीय के्षििल ककतन है?

1)72 2 π

2)36 2 π

3)48 2 π

4)54 2 π



36 men and 48 women can do a certain work in one day whereas 6 men and 12 women can do 
it in 5 days. The number of women required to do the same work in 8 days is?
36 पुरुर् और 48 मकहल एां एक कदन में एक कनकित क म कर सकते हैं जबकक 6 पुरुर् और 12 
मकहल एां 5 कदनो ां में कर सकते हैं। उसी क यष को 8 कदनो ां में करने के कलए आवश्यक मकहल ओां की
सांख्य है?

1)10
2)15
3)18
4)12



1)5
2)4
3)3
4)0



A is 25% more than B while B is 20% less than C and C is 10% more than D. Which of 
the following is not true?
A, B से 25% अकधक है जबकक B, C से 20% कम है और C, D से 10% अकधक है।
कनम्नकलखित में से कौन स सत्य नही ां है?

1) NOT
2) A is 10% more than D
3) B is 12% less than D
4) A = C



The speed of a boat in still water is 15 km/h. The speed of the current is 3 km/h. In how much 
time(in hours) will the boat travel a distance of 54 km upstream and the same distance 
downstream?
श ांत जल में एक न व की गकत 15 ककमी/घांट है। ध र की गकत 3 ककमी/घांट है। न व ध र के
प्रकतकूल 54 ककमी की दूरी और ध र के अनुकूल सम न दूरी ककतने समय में (घांटो ां में) तय करेगी?

1)7 ½
2)7
3)6
4)8



Two articles are bought at the same price. One is sold at 20% profit and the other is 
sold at 10% loss. The overall profit/loss percentage is:
एक ही कीमत पर दो वसु्तएँ िरीदी ज ती हैं। एक को 20% ल भ पर तथ दूसरे को 10% 
ह कन पर बेच ज त है। कुल ल भ/ह कन प्रकतशत है:

1)10% profit
2)5% loss
3)10% loss
4)5% profit



Satyam and Shivam can do a work in 10 days and 15 days respectively. Both start the work 
together, after 4 days Satyam left the work. Shivam has to complete the remaining work. In how 
many days, does the total work get completed?
सत्यम और कशवम एक क म को क्रमशः 10 कदन और 15 कदन में पूर कर सकते हैं। दोनो ां एक स थ
क म शुरू करते हैं, 4 कदनो ां के ब द सत्यम ने क म छोड़ कदय । कशवम को शेर् क यष पूर करन है।
कुल क यष ककतने कदनो ां में पूर होत है?

1)10
2) 6
3) 12
4) 9



Ramesh is thrice as old as Suresh. Two years hence, Ramesh will be twice as old as 
Suresh. Ramesh’s present age (in years) is?
रमेश की आयु सुरेश से तीन गुनी है। दो वर्ष ब द, रमेश की आयु सुरेश से दोगुनी होगी।
रमेश की वतषम न आयु (वर्ों में) है?

1)4
2)6
3)2
4)3



A and B can complete a work in 20 days and 30 days respectively. A works full time but B works 
half time. In how many days the entire work is to be completed?
A और B एक क म को क्रमशः 20 कदन और 30 कदन में पूर कर सकते हैं। A पूरे समय क म करत 
है लेककन B आध समय क म करत है। पूरे क यष को ककतने कदनो ां में पूर करन है?

1)9 days
2)15 days
3)12 days
4)10 days



In how many years, an amount becomes three times of itself, if simple interest is  
calculated at a rate of 10% per annum?
यकद स ध रण ब्य ज की गणन 10% प्रकतवर्ष की दर से की ज ती है, तो ककतने वर्ों में
एक र कश स्वयां क तीन गुन हो ज ती है?

1)18
2) 20
3) 15
4) 25



A train 180 m long moving at the speed of 20 m/sec passes across a boy who is moving at a 
speed of 10m/sec in the direction of the train. The time (in s) taken by the train to over take the 
boy is?
180 मीटर लांबी एक टर ेन 20 मीटर/सेकें ड की गकत से चलती हुई एक लड़के को प र करती है जो
टर ेन की कदश में 10 मीटर/सेकें ड की गकत से आगे बढ़ रह है। लड़के को ओवर टेक करने के कलए
टर ेन द्व र कलय गय समय (सेकें ड में) है?

1)15
2) 36
3) 18
4)12



If the area of a circle is 154 square cm, then the ratio of circumferences of this circle 
to that of the other circle, whose radius is 21 cm, is?
यकद एक वृत्त क के्षििल 154 वगष सेमी है, तो इस वृत्त की पररकधयो ांक दूसरे वृत्त, 
कजसकी किज्य 21 सेमी है, से अनुप त है?

1)2 : 3
2)1 : 2
3)2 : 1
4)1 : 3



If ratio of two numbers is 7 : 11 and its H.C.F. is 13. Then L.C.M is?
यकद दो सांख्य ओां क अनुप त 7 : 11 है और इसक एच.सी.एि. है 13. तो L.C.M है?

1)143
2)234
3)1001
4)101



Two pipes can fill a tank in 20 and 24 min respectively and a third pipe empty it 7 liter/min. If all 
three pipes can fill it in 15 min then find the capacity of the tank?
दो प इप एक टैंक को क्रमशः 20 और 24 कमनट में भर सकते हैं और तीसर प इप इसे 7 
लीटर/कमनट में ि ली कर सकत है। यकद तीनो ां प इप इसे 15 कमनट में भर सकते हैं तो टैंक की
क्षमत ज्ञ त कीकजए?

1)120
2)280
3)210
4)NOT



If average speed of a bus excluding the stops is 90km/h and including stops is 
60km/h. Then how many minute bus stop per hour?
यकद स्टॉप को छोड़कर बस की औसत गकत 90 ककमी/घांट है और स्टॉप सकहत 60 
ककमी/घांट है। तो प्रकत घांटे ककतने कमनट क बस स्टॉप है?

1) 10MIN
2) 12MIN
3) 20MIN
4) NOT



1)69/25
2)62/29
3)57/41
4)59/32



Pipe A and Pipe B can fill the tank in 24 and 30 hrs respectively, while Pipe C can empty it in x 
hours. If A and B are opened for10hours after that C is opened, it empties the tank in 90 hours, 
then what is the value of x ?
प इप A और प इप B टैंक को क्रमशः 24 और 30 घांटे में भर सकते हैं, जबकक प इप C इसे x घांटे में
ि ली कर सकत है। यकद A और B को िोलने के 10 घांटे ब द के C को िोल ज त है, तो िोलने
के ब द 90 घांटे में टैंक ि ली हो ज त है, तो x क म न क्य है?

1)15
2)16
3)18
4)NOT



The ratio of incomes of A and B is 3 : 8 and the ratio of their savings is 9 : 25.Ifthe 
income of A equals the expenditure of B, then the ratio of expenditures of A and Bis ?
A और B की आय क अनुप त 3 : 8 है और उनकी बचत क अनुप त 9 : 25 है। यकद A 
की आय B के व्यय के बर बर है, तो A और B के व्यय क अनुप त है?

1)3:8
2)6:17
3)5:12
4)NOT



A is more efficient than B and they together can complete a work in 24 days. Had A done 50% of 
the work and then B, the remaining work, then the work would have been done in 50 days. B 
alone will complete 40% of the same work in?
A, B से अकधक कुशल है और वे कमलकर एक क यष को 24 कदनो ां में पूर कर सकते हैं। यकद A ने
50% क यष ककय होत और किर B, शेर् क यष करत , तो क यष 50 कदनो ां में पूर हो ज त । B अकेले
उसी क यष क 40% पूर करेग ?

1)16
2)24
3)21
4)20


